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Challenge & Dream K& (CDKZ) AE—E

FERE29%7A8H
=15 [FR & FSUPERT ) —F
ZF CIHUVSR EARE

BF CIU5R EALE

Igfz| EFE |ZFF m B BE IEfz| FEFE |ZFF ] Ba
1 |RHF X N3 KIR{KIRIST  |46.750 1 | =6 e IN | REFHKEIST  |47.650
2 |IKARFRE | 1IN | TONRRRKR—YHIS5TER|45.050 2 |hft EF INS | MEEFRAR—YH5T|46.850
3 [HA KE N3 PNITES L) 44.800 3 [HRK BT INA | T S—LAKIEY ST |46.650
4 |Baft —i@ | /3| RIAHKIEHST  [43.650 4 | G3F N BAIRKIRIST |46.650
5 |RAR G IN3 | RAR9YERFITT  |43.150 5 |FTF i NG PKREKIEIST  |46.200
6 |{Fik HwE ING | T INRRIR—Y45T(42.200 6 |&EM EHE NG| REFHRESST |45.800
7 |FEBE INB | REFHIKESST  |41.850 7 AR Y% N ENAKIREIST  [45.350
8 [MH EX INB | REFHIKESST  |41.350 8 (R BLim N BAIREIRIST |45.300
9 |m FizE 13 FAKRKEIST 41.000 9 |HE MEE ha FEAHKIRIST  |45.250
10 |iEpk F 3} ING | FHINRRR—Y45T|40.300 10 |Ef hig IN3 FENKIESST  |45.000

BF CcI95R EBH ph XF CIHSR ##BH H%E

Igfz| EFE |Z2F m B BE IEfz| FEFE |Z2FE ] Ba
1 |RHF X N3 PNITE S L) 9.300 1 |KK BT IN | T S—LAKIEYST |12.150
2 [EEH —iE INB | REFHIKIESST 9.050 2 |AR Y ha FENFRIST 11.500
3 |mAt BX IN3 | REFHAEIEIST | 9.000 3 |1BHE BE )Y FNKRIST 11.450

BF CIVSRX #EBR HAE XF CIHVSR HER BELVETE

IEf| EFE |Z2E B B IEfz| EFE |2F OB Ba
1 [KARBE | /M | 7H1322K8—995T8BR| 9.750 1 |AIR Y% \VA FENKRIST 12.300
2 |RH FiE N3 KiR{KgI>T 9.600 2 [RRK EBTE IN| A T—LIRERYST |12.250
3 |mAt BX IN3 | REFHAKIEIST | 9.500 3 |hf EBF NG |MEREFRAR—YH5T|12.150

BF CIHUZR EBH DVHREERMER) XF CIHU5RX EBA FEHE

IEfz| EFE |Z2EF B B IEfz| EFE |2F B Ba
1 |HE% F%E N3 KiR{KigI>7 9.650 1 | =6 e IN3 | FEFHKESST  |12.300
2 |RH FiE N3 KiR{KigI>7 9.600 2 (% 63F N BAIREIERIST |12.100
3 KRR BE | /M | 7ONRRRKE—YHFTER| 9.450 3 (A hiz I3 FNIKRIST 11.900

BF¥ CIY93X #EBR BE XF CIHSX EBH Bh

lEf| EFE |2F B B IEfz| EFE |2F R Ba
1 |&RHF X4 N3 KiR{Kigs>7 9.250 1 | =6 fZE IN3 | FEFHKEHSST  |12.300
2 |Hd KE N3 Kiixigs>7 9.150 2 (% 63F N BAIRKIRIST |12.250
3 |KARFE | /N | FONRRRKR—YISTER| 8.950 3 |t 2E N3 | mEREZFERF—YH5T]12.050

BF CIV5X #BH F78E

lEf| EFE |2F B Ba
1 |RH X8 N3 KiR{KigI>7 9.400
2 |Hd KE N3 KiR{XigI>7 9.100
3 |KARFE | /M | FONRRRKR—YISTER| 8.850

BF CIH5R EBR #%&

Bt EFE |2F B B
1 |&H X8 N3 RRAESZT 9.200
2 (H% KE N3 RRAEIZT 9.000
3 KRR BE | /N | 7oNRRRKE—YHFTER| 8.950
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Challenge & Dream K& (CDKZ) AE—E

ER29%7H8H
=18 FFREFSUPERT ) —F

ZF CIUSR EARS

BF COIV5R EALE

lE6sr| FEFE |[FHF m B BE lEhr| FEFE |[FHF ] B
1 |&# A NG EJIKRIST  |46.050 1 |8 KA ING | MR EFRR—YH5T(47.950
2 |7 EX 2 GGSY57 45.900 2 |EHE T INS | IR EFRR—YH57T(47.900
3 [EARMA NG PRARIST 44.750 3 |ifA XZ ING FENAERIST 46.850
4 |thiE —1E 1| RBHEEFREITT  [44.450 4 |[—/EBE | /6| T+rI—LIKEYST [46.700
5 |BEIS EiE 2| MAHEKEITT  |43.800 5 | KW EHE | 6 | TONRRRKR—YH5T (46550
6 |FF% ZH& 1| FONRRRKR—YH957T|43.750 6 |Ef RAE INS | TONRRIR—YHS5T|46.150
7 (BN EBR 1| AT SRIEEIST [43.000 7 5T #Em NG FENKEIST  |46.050
8 |EH 1E 1 KiR{KEIST 42.400 8 [T B% ING | 7HIRRRR—YHFTEER | 45.950
9 [FIR Z=HW NG PRARIST 42.050 9 |BF DiE ING PIKRAEIST 45.700
10 |#EF XK ING | REFHRIEIST  |42.000 10 |FRENEF K | 1N6 | TONRRKR—YHSTER [45.650

BF cOIyv>R EBA ph XF COIHVSRX TEBR BE

Igfz| EFE |Z2EF m B BE IEfz| FEFE |Z2FE ] B
1 |&#E A N ENKREIST 9.250 INEETN ING PIKRAEIST 12.050
2 (F)l AR 2 GGSY357 9.150 2 |%hHE EBF ING | RRYHIREYST  |11.900
3 |#hiE —1E B M BZEKEIST | 9.000 3 ER XE ING FNIKRIST 11.850
3 | LEE [EDh 2 | MaErsvar7os—3xkAKERZ [ 9.000

BF¥ COIJSR #EBR HAE XF CIHVSR HEBA BEVFETE

IEf| EFE |Z2F B B IEfz| EFE |2F B B
1 |@&)ER f12 GGSYU357 9.600 1 [(BFE XE /N5 ENAERIST 12.550
2 (HE —1F 1 mBEERKEIST 9.450 2 |*FHE Tk INS | MR EFRR—YH57T(12.400
3 |[BARMA 5 PIRARIST 9.400 3 |EF BRE INS [ FONRRR—YH5T(12.200

BF COIHUSR EBR DVHREERER) XF CIHYSR #EBA FHE

IEf| EFE |Z2E B B IEfz| EFE |2F OB B
1 |fEH EF H1 | FONRRRR—YHST| 9.600 1 |FB FH | /M5 [mEREFRKR—YH5T|12.300
2 |#@N AKX $2 GGSHY357 9.500 2 |&# KA INS | MR EFRAR—YH57T(12.250
3 |'AH 18 g1 KiR{KEIST 9.400 3 |[#ERAKTE ING | UNTILIRESYST |12.100

BF cOv>RX EBH BB XF COIHVSR FEBA

IEf| EFE |2F B B IEfz| EFE |2HF R B
1 |&H H1 KiRAEYIZT 9.400 1 |8 KA ING | MR EFRAR—YH5T(12.400
2 |7 X 2 GGSHY57 9.200 2 |FH F# | /N5 |EREFIKR—YH5T|12.100
3 |#hiE —iE ol M BZEKEIST | 8900 3 |—/BEGE | 6| T+5—LIKIEYIST [12.050
3 |R)I BEE 1| &9 5H0EEIZT | 8.900

BF COI/5X #BH F78E

gt EFE |2F B B
1 |=1E A NG FENAKRIST 9.450
2 [EREA NS PKREREIST 9.300
3 (A5 & k2| mAHEEKEIST 9.200

BF cOIVZR EBH &

lEf| EFE |2F B B
1 (#N AR $2 GGSY357 9.300
2 |[E48 A NG FENARRIST 9.250
3 |FEH & 1 | 7ONRRRKR—YHIST| 8.600
3 |[HhiE —iE = mBZEAKEIST | 8600




HIE AT 1= 7 IR
Challenge & Dream K& (CDKXK£) AE—E

FR295%7H8H
215 FFR#£FSUPERT ) —F
BF DIVSR NS ZF DIVSR BAKRE
gtz | FEFE |FF R BA IEf| FEFELE |FFE B /A
1 (X &S /N3 D 38.300 1 |[EM ®E N | TAT—LKRIRSST 38300
2 (MR &= IN3 TV IKEIST  |38.000 2 (& B IN3 | URSILIKIRIST 38150
3 |AGRHE = NG TYORIEYST [37.850 3 |BRA P N | TAT—LKRIRSST |38.050
4 |HBFH B \V! Ty OKEIST 37600 4 |IUAK KB IN | TAT—LKIESST |38.000
5 |#&%F f5iE N2 | PEAHKIESST 37550 5 |&H E#& INB | TAT—LIKIEIST |37.650
6 [EM K& N2 | TAVRKIED ST |31.550 6 |MAF == N[ YRTZILIREY ST [37.300
7 |FHFEA IN3 Ty OKEIST  |37.550 7 | EER N4 KiriAgy>7  [37.300
8 |F#E B N2 | TAVRIKIEYZT 37500 8 (1A &R, N3 | TAT—LIKEEYZT [37.250
9 |EM Tk N2 | PEAHKESST 37300 9 |H¥ miE N3 AAAKIEIST  |37.100
10 [FEAX BX INB | TAT—LKESST [37.250 10 |8 XE IN3 | PEAHRKIESST  |37.050
BF DIHSAX FEBHI Bh ZF DIVSR EBA LUFHE
G| EFE |FHE R BA IEhr| EFE |FHE B /A
1 |2/ K& N2 | TAVRIKEYIZT | 9.800 1 |%RE Eibf Ny KRAERIST 9.700
2 %% BiE IN2 | REAHKESST | 9.750 2 | &M KZ NG| TAT—LIKRIERIST | 9.650
2 (#ER EE N2 | TAVRIKEYIZT | 9.750 3 |&H EE N3 | TAT—LIKEYZT | 9.600
BF DIHYSR fEBH HE ZF DIYVSR EHA E#K#E
G| EFE |FHE R BA Ighr| EFE |FHF i /A
1 (X EE IN3 TIKEIST 9.800 1 | R ®E NG| TAT—LKIERSST | 9.800
2 |FEE EH IN2 | TAVRIKESST | 9.700 2 |80 & )Y ILbyTH5T 9.750
2 (AfRE = N IYIERIEYST 9.700 3 |AH M= INS | BAIRKIESST 9.700
BF DIYSR #EBA ELUFHE ZF DIHYSR #EBH F¥H&E
IEfr| EFE |FHE R BA IEhL| EFE |FHE i /A
1 |MR & IN3 Ty IKRYSD 9.350 1 |BRA P INA | T S—LAKIED ST | 9.600
2 (ARE &= \v! TVIRIERI ST 9.300 2 |EuF B INS | URFILIKIEYST | 9.550
3 [FEA IN3 TIIRIEI ST 9.200 3 [IUA KRB INS | TAT—LAKIESST | 9.500
BF DIHYSR EBR &i& ZF DIYSR #HBAH Bh
lEhz| EFLE |FHF R Ba IBh| EFLE |FHE i /A
1 (WX EE IN3 TVIRIEI ST 9.850 1 |UA B%iEE INS | TAT—LAKIES ST | 9.700
2 [EXEX NS | TAT—LEIEYZT | 9.700 2 |HEEFH G N PKREIRIZT 9.600
3 |#EFHEE | /2| FESEFHRKERIST | 9.650 3 |98 kE IN3 | READKIREIST | 9.550

EHELE EHELE
EFL HAE B EF4 P B
b NI gk KRR R—YI5T M {h3F 5K bEAHIEIEIST
%k EN gk KRR R—YI5T =E Ak 5K TAVRKEYZT
EH t¥ 5K KRRR—YH5T
ArA EZE g RERAR—YIS5T
EH BXE FR| IVIRR—YRI—IL
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Challenge & Dream K& (CDKE&E) AE—

Frk2957H8H
215 FR#£ESUPERT ) —F
BF DIYVSR HAKLE ZF DIHVSR AAKRE
lEhr| FEFE |ZFF i BA lEz| EFE |FHF R BE
1 |#E EX NG GGS¥Y57 38.400 1 | HEBR ING ILbyTH5T  [37.100
2 |E7R BE ING | TAVRIKIESST (37700 2 |fBR BIE | /6 PKAEEIZT (35400
3 |1k XK ING | FRAALRKR—YHYFT |36.850 3 |BEER HF 2 |7ONRRR—YHI5TER|35.400
4 |7 HIB 2| FEFHARKIEIST  [36.600 4 |k ZEE | /6| THI—LEKIEIST |35.350
5 [KEGBAEE | 1| FSAHEKIRSIST  [36.400 5 |HREE IBTH N6 | READKIRESST (35300
6 [EX &km ING | FAALRR—YHST |36.150 6 ([ HhE Z/\%5) FEADEKESST  [35.200
7 |RIIEE | /S| FEAHEIRIST  [35.750 7 |#8H E4&% | /5 PREFIEIZT (35150
8 |HEM PEEE ING AxvITU57 35.650 8 |FRiE IR E ING PKREEIST 35.100
9 [HAFEAX | /5 PRKEIZT (35450 9 |#aE BE | /5| ZPYTEIEIST  [35.000
10 EW &KX | /6| RBZERKEIST |[35.400 10 (2@ ZEpe | 1| VICRKR—YSST  |[34.800
BF DIYSX HEH BpH ZF DIYSR B3R BKUHE
6| EBFE |FHF i B IEhr| FEFEL |FF i B/a
1 |E7 R ING | TAVRIKEYST | 9.900 1 |#WHBE |5 ILMTHST 9.200
2 (BREKX | /6 GGSHY357 9.700 2 |d&HXKE |5 | FEARR—YHIFT | 9.150
2 |RAE &4A 2| FEAHERIEIST [ 9.700 3 |RME ING | RSADKIEDST | 9.000
3 g EE ING | T T—LAKIED ST | 9.000
BF DIHYSX #HEBH AR ZF DIYSR BRI E#HkEE
IBhL| EFR |FHE i B lEGL| BFE |FH i ‘A
1 |#gE A NG GGSY5J 9.700 1 | HEBR ING ILbYTH5D 9.400
2 |tk KAv INS | FRAALRKR—YHFT | 9.350 2 |BR Bt NG PIKRKEIST 9.350
3 | BEARER | /NS mBERKRIEIST 9.300 3 |¥ DEH INS | TOINRRR—YHUS5T| 9.200
3 |Z£H F1| VICRKR—YI3T | 9.200
BF DIHYSR #HER &EUHE ZF DIYSR #EBR FHE
IBhz| EEFR |FHE i BA lEGr| #EFE |FHF B /A
1 |/K5S 5hBE 1 A DKIRIST 9.500 1 |MHER NS ILbyTHS5T 9.400
2 |igE X NG GGSY357 9.400 2 |48 &t F2 | UYRZLEKEIST | 9.300
3 |ER BE ING | TAVRIKESST | 9.300 3 |fBIR Bt NG PKRKEIST 9.000
BF DIHYSR EBH &K Z+ DIHYSR #EBH BpH
IBhz| EEFR |FHE i BA lE6r| EBFE |FHF R BE
1 (¥R i\ NG GGSY37 9.600 1 (g =5 ING | TAT—UAKEEIST | 9.250
2 |E7F BE INS | PAVREEIST | 9.400 2 |HEBR ING ILbyTH5T 9.100
3 |{EBE XN INS | FAALRKR—YIST | 8.750 3 |#RE BTy NG | READKIEYVZT | 8.950




